
January 27, 2014
6-1 Law of Sines

Day 1

sin A  =  sin B   = sin C
   a           b            c

used for solving 
oblique triangles 
(no right angles)

Can be used if given:
1. 2 angles and any side (AAS and ASA)
2.  2 sides and the angle opposite one of them (SSA)

I.  Solve the triangle.
Ex 1) C = 102.3, B = 28.7, b = 27.4 ft

Ex 2) a = 22 in, b = 12 in, and A = 42
If the side opposite the angle given 
is larger than the other side, only 1 
triangle exists. Otherwise, there is 0 
or 2 triangles possible.

Ex 3) a = 15, b =25, A = 85
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Ex 4) a = 12m, b = 31m, A = 20.5


